Calculus Review

Meike Niederhausen and Nicky Wakim 2023-11-06

Learning Objectives

1. Find derivatives of continuous functions with one variable

2. Find antiderivatives and integrals of functions with one variable

Differentiation





Example 1.3	f'/x) = -	<u>d</u> (2x+2	
f(x) = 2x + 2		0	lx (/
f(x) = 2x + 2			$\frac{d}{d}$ (2x) +	$\frac{d}{dx}(2)$
g(x) = dx		u	X		
f'(x) = g'(x)			2	+	Ò
	f ((×)	11 6	2		

Example 1.4	
-	

$$f(x) = x^2$$

Derivative of x to a constant

$$\frac{d}{dx}x^{n} = nx^{n-1}$$

$$f'(x) = 2x^{\hat{a-1}} = 2x$$

$$f'(x) = n$$

Example 1.5 $f(x) = 3\sqrt{x} + \frac{2}{x} + 5$

$$f(x) = 3x \frac{1/2}{1} + 2x \frac{1}{1} + 5$$

= $3\left[\frac{1}{2}x^{\frac{1}{2}-1}\right] + 2\left(-1x^{-1-1}\right) + 0$
= $\frac{3}{2}x^{-1/2} - 2x^{-2}$
 $f'(x) = \frac{3}{2\sqrt{x}} - \frac{2}{x^{2}}$

Example 1.6

 $f(x) = e^x$

Derivative of exponential function
$$\frac{d}{dx}e^{x} = e^{x}$$

 $f'(x) = 6_x$





$$f(x) = \chi^{2} e^{\chi}$$

$$f(x) = \chi(x) g(x)$$

$$f'(x) = \chi'(x) g(x) + \chi(x) g(x)$$

$$f'(x) = (\chi)e^{\chi} + \chi^{2}e^{\chi}$$

Find the *derivative* of the following function $f(x) = \frac{x^5}{2x+7} \rightarrow f(x): Righ$ $f(x) = \frac{x^5}{2x+7} \qquad \chi^5 \cdot (\lambda \chi + 7)^{-1}$ $f'(\chi) = (2 \times 17)(5 \chi^4)$ Quotient Rule $(x^{5})(a)$ $\left(\frac{f(x)}{f(x)}\right) = \frac{g(x)f'(x) - f(x)g'(x)}{g(x)}$ $(2x+7)^{2}$ $f'(x) = \frac{10x^5 + 35x^4 - 2x^5}{10x^5 + 35x^4}$ dx $(g(x))^{2}$ = <u>low</u> d'high - high d'low $(ax+7)^{2}$ (00 $f'(x) = \frac{8x^5 + 35x^4}{2}$ low.low $(2x+7)^{2}$

$f(x) = e^{-2x+7}$

 $g(x) = -\lambda x + 7$ $f(g(x)) = e^{g(x)}$



 $f(x) = e^{-2x+7}$

Chain Rule

f'(x) = f'(g(x))g'(x) $= \rho \frac{g(x)}{(-\lambda + 0)}$ $f'(x) = -\lambda e^{-\lambda x + 7}$

 $\frac{d}{dx}(f(g(x))) = f'(g(x))g'(x)$

$f(x) = ln(x^2)$

 $g(x) = \frac{x^2}{n}$ $h(g(x)) = \ln(g(x))$

Chain Rule

$$\frac{d}{dx}f(g(x)) = f'(g(x))g'(x)$$

 $f(x) = \ln(x^2)$

$$f'(x) = h'(g(x))g'(x)$$

$$= \frac{1}{g(x)}(2x)$$

$$= \frac{2x}{x^{2}}$$

$$f'(x) = \frac{2}{x}$$

Integration



the
$$m(x) = 2x + c$$

 $m'(x) = 2 + 0$

Example 2.2		
$\mathbf{f}(\mathbf{x}) = \mathbf{x}$		

Integration of x to a constant



 $\int x \, dx =$ $\frac{\chi^{1+1}}{1+1}$ + C = X _ - + C



 $\int \frac{1}{x} dx = \frac{\ln|x|}{x} + c$ $\frac{1}{x} (\tan be \text{ neg or pos.})$ $\frac{1}{dx} (\ln(x)) = \frac{1}{x}$ $\frac{1}{dx} (\ln(-x)) = \frac{1}{(-x)} (-1) = \frac{1}{x}$



Example 2.5

 $f(x) = e^x$

 $\int e^{x} dx = e^{x} + c$

 $=e^{\chi}$ С $\int e^{x} dx = e^{x}$

Example 2.6

 $f(x) = e^{-x}$

 $\int e^{-x} dx = (-1)e^{-x} + C$ $(1)e^{g(x)} = -e^{-x} + C$ g(x) = -x g'(x) = -1 $\frac{d}{dx} (-e^{-x})$ $\frac{d}{dx}(-e^{-\varkappa})$ $= (-e^{-x})(-1)$

= e^{-x}

Example 2.7	
$f(x) = e^{-2x}$	

$$\int e^{-2x} dx = \frac{1}{2} e^{-2x} + c$$

$$1 \qquad -2 \times what = 1$$

$$\omega = \frac{1}{-2} = \frac{-1}{2}$$

 $(2x + x^5)dx$ J_0

$$\int_{0}^{1} \left(\frac{2x + x^{5}}{2}\right) dx$$

$$= \chi^{2} + \frac{1}{6} \chi^{6} \Big|_{0}^{1}$$

$$= \left[\left(\frac{1}{2}\right)^{2} + \frac{1}{6} (\frac{1}{2}\right)^{6} \right]_{\chi=1} - \left[\frac{0^{2} + \frac{1}{6} 0^{6}}{2} \right]_{\chi=0}$$

$$= \left[+ \frac{1}{6} - 0 - 0 \right]$$

$$= \sqrt{\frac{7}{6}}$$

Example 3.2



U-substitution

$$\int \underline{f(g(x))g'(x)dx} = \int f(u)d\mathbf{x}$$

$$u = -\frac{x}{du} = \frac{d}{dx}(u) = -1$$

$$\frac{du}{dx} = \frac{d}{dx}(u) = -1$$

$$\frac{du}{dx} = -1 \frac{dx}{dx}$$

$$\frac{du}{dx} = -1 \frac{dx}{dx}$$

$$\int_{2}^{3} e^{-x} dx = \int_{u=-2}^{u=-3} e^{u} (-1 du)$$

$$= -\int_{-2}^{-3} e^{u} du = -\left[e^{u} \int_{-2}^{3} \right]$$

$$= -\left[e^{-3} - e^{-2} \right] = \left[e^{-2} - e^{-3} \right]$$







ln(x)dxJ

Solve the following integral $dv = e^{\chi} dx$ $u = \chi^{*}$ $v = \int e^{x} dx = e^{x}$ $\frac{du}{dx} = \partial x$ ρx du=2xdx 2 Я 2xex dx $\int_{-\infty}^{2} \chi^{2} e^{\chi} d\chi = \chi^{2} e^{\chi}$ $f(\chi) = \chi^2$ $f_{x}(x) = \Im X$ (Ze²) $= 2^{\alpha}e^{\alpha} - 1^{\alpha}e^{1}$ f''(x) = 2P#2: Iby $4e^{2} - e' - 2e^{2}$ $dw = e^{x} dx$ $v = e^{x}$ u=2× Я du = 2 [2exdx axe*1 aex)? = 4e² - 2e' -=

A philosophy on integrals in actually solving our problems